2 () e

_
&
Bl

)
©
@
3. frefif wl ® R Hfr :

L1 g fama 3, sl n>3%

.WI_..

= =

Nnoo

2 %ihwwﬂ_ﬂw win>3%
i # & P/ T
2/8?

@ F1
(b) 92
(© 1323
@ FqL3R2

SDFR-S-HTM - B

Amv 14
® 2!
(©) um,
@ 42
2n §, I T q
5. ﬁx+& F W
am (W W xF

i q@
%%m%wvv

(a) C@n,np

() C@n,n-1%

¢ cenn

@ c@nn-1
a.qmiﬁ&ﬂwafﬁvwge

o a dw, W F

& @ e R 7

(@ 20
®) 10
(€ 2

g

@o

L What is the principal argument of T+ L 7
+
where /=77 9

(a) n

=

) -

Rl

©

Rl

@

=g

2, What is the modulus of

ﬁmlwunceﬂ

2 2

B—

®

®)
©
A&V Nnoo

- =

3. Consider the following statements :

]
1 % is divisible by 6, where n>3

_ A
2, wi is divisible by 7, where
n>3

Which of the above statements is/are
correct ?

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

of 5
am s 5O
lar v—wv.oﬂm ?

4. In how many ways can 3 te

players be selected out ©
as to exclude two partict

(a) 14
®) 21
() 35

d) 42

2n .
1 S
5. In the expansion of mu +w.w , what 1

the (n+ 1)th term from the
arranged in descending poW

end ?&umb
€ers of x) ?

@ C@n, n)x
® C@n,n-1)x
(c) C@n, n)

@ C@n, n—1)

-6. If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ? e

@ 20
(®) 10
© 2
@0

B - SDFR-S-HTM




i g
iﬁaigsa

1 ¢ o o 107 T 1y anm
&ﬁ%ﬁﬁ@av

10
@ %
) 255
(c) 26
@ 265
8. (1110011); + (10111 fras WK
22
(@ (101)
() (1001);
(© (1)

(@ (1o11),

0. aft x3+y3 = (100010111); 3R x+y =
aiiy, & @/ G-pp+oy FEE
TR 8 ?

(a) (1101)
®) (1001),

(© (1011),

@ (),

SDFR-S-HTM - B

% wm_ 0, x+y <2 x<0 3k
Sy %.yﬁw@mj

%H w1

@ ©0

® 2

(© A\_. 4 i

av A\__Nv

o[, xeCLD F T ¥

:.n,\,._dmm?@dv ot | AR R, st

| y=0:5 T T I 0 %

2 W= 0.5 R Hd ®
a&amw%ﬁ\%&.yﬂa@
2/

(@) ¥

() ¥ 2

(© 1323
@ ANLTA2

N-
12, S TR _AQJ - m«|w
& oI TR ? :
@
®) 2
(© 3
@ 4

s

7. 1f the 5th aa_ of an AP i ma and its 10. Consider the inequations

9. If Hu+%uu Cooo:::# and x+y =

th - o EJ&
_ﬂo term is J then what is the sum of Wv o& imnaA mam M ﬂ AEM wo:oiw:m
t
AHEd 3:5: points lies in the common region on 7
N q
(@ 25 ' /Y, @00
() (-2,4)
2 ©) L4
© 26 Mo’y % @ 1,2
- i ternents
d) 265 11. Consider the following St

in respect of the fumction Y= =1,
xe(-1,1) where [] is the greatest

8. What is ( integer function :
3 at is (1110011); + (10111 1
w? Sl e 1. Its derivative is 0 at x=0-5
2. It is continuous at x=0
@ (101), S:_\ﬂc) .
\o'b Which of the above statements is/are
Aw/ correct ?
() (1001), s
a (a) 1 only
() (1), ©) 2 oaly
th 1 and 2
d) (1011), (c) Bof

(d) Neither 1 nor 2

12. What is the degree of the differential

(11111);, then what is (x—yP+xy ;
2 2.\3

i &Y _[dy),

equation ~+h&n = =3 ?

equal to?

@ (1101),

4

(®) (1001), @ 3

1011 ke

(© (o11), =

(@ @un, @ 4
Sty B- mvmw.m.mi,z



5.9, A sind T HF 5y
12

| 16. af 0=~
13. T Whedf wged ¥ g AR A D a
vq Tend ) e 7 3 WL 3 .
2 @R smn werd 100 W # mgidiﬁg
A 2, o fRE (O ® 13
fariw) wr g ? . B ot
2 ® -3’ 13
@ 700 : m
® i3 © 131
100
. P Y WS T
In10 (@ HF A
© Too
5n
@ 22 , 17. cos* 2 +cos' g F F = te
100
3.
14. ®€ f(x)= _IANICN T Wiq | (a) 3
27 ,
| ® 7
@ O 1 4
) [-1, 1] - w
© 0.2 ,
: 3
@ [0.2] © 2
15, WE P=dhr IR WF Aifea e
(Frem Y7e) o1 ofeg & & & 18, maAm&uwmsAMumu
Emwﬂmw_i»v%;ﬂﬁ s T 2 2
Lo ) ;
@@ 1 ,, (a) sin26
®) 2 . (b) cos20
(e, 5 (©) 2sin6
g (d) 2cosh

SDFR-S-HTM - B,

13. A fadioactive

fate proportional
0 the am,
substance presen ount of

. If b
Substance decays in alf of the

100
What i3 (he decay ¢ years, then

Substance decays at 5

i . onstant 3
tionality constant) 7 (propor-

-
N

n

(a)

El

5
o

®

gl

X
=
o

©)

g

[N
5
¥

@

I

—
(=3
=]

14. What is the domain of the function

I@=\1-Go1y

@ (©,1)

® 1,1

© 0,2

@ [0, 2]

1S. The area of the region bounded by

the parabola y? = 4kx, where k> 0 and
its latus rectum is 24 square units.
What is the value of k?
@@ 1
®) 2
© 3
@ 4

16. I Eau:_hn. then what can be the

value of sing?

(a) _lmu. but cannot be |ﬂmm
®) .._Wu but cannot be W
© W or lW

(d) None of the above

17. What is the value of
a1m 451

o0st Ty ot ST ¢
@ 3

® 3

© 3

@ %

—

18. What is mwm@ + & _ minhm». % &
equal to ?
(a) -sin20
(b) cos26
(©) 2sin@

(d) 2cosO

1 B - SDFR-S-H



19. T FEhR o g e g T
%w%ﬁwﬁ}ﬂaﬁ%
EoETE FEafeR @eT @ | WA © N
g W e & aw sk A
IFE Fh AW @ R 20 % | TR

& AT T R v
(@) hcos6
(b) hsing
() hcos20
(d) Asin26

20. ST R H IHGT F0T 60° A IRAfIA
R O W YgIA ¥ A TF TR
ga%ﬁﬁ@iw;ﬁmﬂ
&t I V3x Wi B, @ ffafaa §

FF-T WG ?
@ 0<6<30°
(b) 30° < 6 < 45°
(c) 45° < 6<60°

(d) 60° < 6 < 90°

2.4 () +ani(Z) =2 ¢, et
0<x<6 %, Al x forad s/ & ?
@ 1
(b 2
©3
@ 5

SDFR-S-HTM - B

—Iy =T By WA I

2 af gin~l + €08
e B 7

@0

1
® 7

S~

©

1
@5
o +tanfi= 1 - tana.tanB ®, vt

g1 2, @ Frellea % 3
im.wﬁmﬂa

23. af% tan

tana.tan,
w1 (ath) F

g7

@ %

At

®

Wiy

©

@ 7

24.3R (1+tand)(1 +tan96)=2 &, @

tan(106) 1 T 4T § ? :
@ 0

) 1

© 2

@ &

19. A vertical lower stands on 4 horizontal
plane and jg surmounted by a yertjcas
Aagstaff of height 4. At a point on the
plane the angles of elevation of the
bottom and top of the flagstaff are 0
and 20 respectively, What is the height
of the tower ?

(a) hcoso
(b) hsing
(c) hcos20

(d) hsin20

20. The shadow of a tower becomes x
metre longer, when the angle of
elevation of sun changes from 60° to 6.
If the height of the tower is V3x metre,
then which one of the following is
correct ?

@ 0<6<30°
(®) 30°<6<45°
(© 45°< 6<60°
(@) 60° <8< 90°

218 §-_@ + §u.@ =Z, where
0 <x <6, then what is x equal to ?
@ 1
®) 2
() 3
@ 5

22.1f 3sin~'x + coslx = r, then what is X
equal to ?

(a) 0

® 5
I
(c) 7z

@ 7
23.If tang+tanf=1—tana.tanf, where

i f the
tana.tanf=1, then which o
following is ome of the values of

(@+p)?
@ %
® F
© 3
@ 5

24. If (1 + tan@)(1 + tan96) = 2, then what
is the value of tan(108) ?

@ 0
o1
(c) 2

(d) Infinite
B - SDFR-S-HTM




i in30° +... +
25, sin0° + sin10°+ 5in20° + sin30'

sin360° T WA T 7
(a) -1
® 0
@© 1

@ 2

A={1, 2, 3 4 F =
Na.mﬁmﬂﬁammmﬂman%@m_ﬂww
for W= (4) & s &7

@ 6
®) 7
© 8

@9

27,9 s T A R B % W A
freafifae @it w R A :

1. xg(AUB) => xgA S x¢B
2. x¢(ANB) = xed I xB

Sudw # ¥ FA-E/A-R T A
?/8?

(@) Fae1
(b) Fa 2
(0) 13R23M
@ TdLTE2

SDFR-S-HTM - B

10

ﬁu@ﬂ‘&\‘mﬁﬂ&wg.ﬂ

a.%@m%&ﬂwﬁﬁwﬂ“

1. Aup=4nB e e T o
A=B

N.?wuﬁuw%ﬁwamum;nm

%mw%ﬂ-ﬂ\mﬂm.wuﬁdm%

2/87

(@ ¥ 1

(o) F2

@. | R 23

@ A L,AR2

= @ xRy TR

.ﬂmnanlmx%+&v\~ Ow 34

B e et W % W N
gy g% TR 7 Feafafed w w

faamc A ¢

1. REgE ®
2. REARE ®
3. R AT ®

i ¥ @ mwﬂ.ﬁ\%..w/mﬂd wet
/32

(a) ¥ad 1

() Faw 2

() ¥ 13K 2
@ 1,23k3

25. What is the valye of
sin0° + sin]0° + sin20°
sin360° ?

+sin30°+,,, +
(@) -1
(b) 0
| @© 1
@ 2
26. Consider all the subsets of the set
Ant.w.u.i.moigwonsﬁﬂa
supersets of the set {4} ?
@ 6
® 7
() 8
@ 9

27. Consider the following statements in/
respect of two non-empty sets 4 and B :

1. x¢(4UB) = x¢A or x¢B
2. x¢(ANB) = x¢A and x¢B

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

11

28. Consider the following statements in
tespect of two non-empty sets 4 and B *

1. AUB=ANB iff A=B
2. AAB= ¢piff A=B

Which of the above statements is/are
correct ?

(a) 1 only
() 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

29. Consider the following statements 11
respect of the relation R in the set ~Z
of natural numbers defined by xRy if
2-5x +42=0:

1. R is reflexive
2. R is symmetric
3. R is transitive

Which of the above statements is/are
correct ?

(@ 1 only

() 2 only

(c) 1 and 2 only
ﬁ.& 1,2 and 3

B — SDFR-S-HTM




S RE
4w fht SR T R
30. foreft wg= w farar AR :

1 af R, AR R E
N.,&Nhﬂiﬂdw_%_z\:w
3

s.aRk R deww 2, @ RTCR

HHTF
s & ¥ F-m/A-Y T T
/22

(a) ¥ 1 3R 2

(b) Fae2 3R 3

(c) a9 13K 3

@ 1,23K3

31. 9= ‘TIGER’ ¥ &R & W@ fem
e o W Ew e WA A
et ? ;

(@) 72
®) 36
(c) 18
@ 12

S32.7 Wit @ ¥R B, GHieRw

x2+px+g=0% 7@ ¥ | A a3 3R

B3, wHERT 22+ mx+n=0 F W §,
@ m+n H AR T g?

SDFR-S-HTM - B

a4
@ P

3
() Pt pa
@ pro

3
@ p*ta

usx%wﬁnu_ﬁu. i

? .ahl.ﬁ.l?%%lauowﬂﬁ—w_
s bE?
® %nlﬁxlhk+ﬁh+nﬂo
o ax-prtaf-c=0

-3pq

®)
© 2+ax+prtaftc=0

@ »p+§+ux+nu..|nno
.ﬁ.uWﬁnQ+%+%uowﬁ

o 3, @ freffed § ¥ SR

TR

@ a+tbte=0

® a-b*e=0

@ atb-c=0

@ |=.+u+nno

35. 1 R @ A B (a> ), W
2_Br+g=0FT ¥

qfy o?- p2=16%, T g & A7 FT -

g7

@ -15

(b) -10 -
© 10

@ 15

12

30. Consider the following statements in

respect of any relation R on asetd:

L If R is reflexive, then g-!

S is also
reflexive

2. If R is symmetric, then g-!
symmetric

is also

3. If R is transitive, then R-! is also
transitive

Which of the above statements are
correct 7

(@ 1and2 only
(b) 2 and 3 only
(c) 1and3 only

(d) 1,2and 3

31. How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

(@ 72
(b) 36
(c) 18

@ 12

32.Let a and B be the roots of the
equation’ x2+px+g=0. If a3 and
p? are the roots of the equation
x2+ mx +n =0, then what is the value
of m+n?

13

@) P+@+pg
b) P+q~pq
) P*+q*+3pq
() PP+q°-3pg
33. Let « and B be the roots of the equa”
tion x>— ax— bx +ab—c=0. What 15

the quadratic equation whose roots aré
aand b?

(@) 2-ax-pPx+af+c=0
®) P-ax-px+af-c=0
() 2+ax+px+ap+c=0
(@ P+ax+px+ap—c=0
34. If the roots of the equation
P-ax-bx—cx+bctca=0
are equal, then which one of the
following is correct ?
@ a+b+c=0
®) a-b+c=0
() a+b-c=0
d —-a+b+c=0
35.Let @ and B (a>pB) be the roots
of the equation x2 — 8 + g = 0. If

a?— B2 = 16, then what is the value
of g?

@ -15
(®) -10
© 10
@ 15
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2 p2, o2 i A (GP) 3 §

1.a
R
ua:gqmu@ﬁdznﬁ_w. i _ .
?fueimchimaﬂw.aﬂ: N.w.w.m% @P) ¥ §
wer ® 7 ,
i 5. . b, e T At Gyt
(@ 4
43 fo T F F T TR T I
m .
(b) Y
ol (@) ¥ 1 AR 2
@ () ¥F€E2 IR 3
(37. mﬁx:+u8x~x:+.»2xuxm.v.n._:v+ P .
5(5x4x3%X2%1) + evven oane
wsMszmﬁxuxwxc,& w @ 1,233
Lol ?
(@ 11! Sam?é E w&@@
®) 10 ww‘&mﬂ@?ww%a@
g7
(c) 10+10! . .
d 11+10! (@ @ b, c TR it (AP) F €

®) a b, c TR 300 (GP) H &

38.f 4={(1, 2. 3) B, A () a+b, bte, cta. .Mawma Hoft

%ﬂw (ar k) * Feam s 3§
. (@ atb, w+pn+nmu_.a.awqf>s
(@) 1 5%
®) 2
© 4 41, cof215° + tan?1 5O T HT T R ?
.@ 8 (2) 12
®) 14
39. a2 a, b, c UK At (GP) # ¥, et &
a>0,b>0,c>0%, a frafufea § ©
q -9 W E? @ 4

SDFR-S-HTM - B 14

36. What is the maximum value of n such
that 5" divides (301 + 351),
natural number 7 '

where n is a
(a) 4
(b) 6
(c) 7

@ 8

7. What is the value of
2(2x1)+3(3x2x1)+4(4x3x2x1)+
5(5%4x3x2X1) + ..ous o . &
w@xquxmxux&xmxwx_v.?uw
(@ 11!

®) 10!

(c) 10+10!

(@ 11+10!

38.If A={{1, 2, 3}}, then how many

elements are there in the power set
of 47

@ 1
®) 2
() 4

@ 8
39. If @, b, c are in GP wherea>0,5> 0,
¢>0, then which of the following

are correct ?

15

1. a?, b2, 2 are in GP

I p
» ¢ are in GP

=

|
2 4

3. J\m. .,\N. ¢ are in GP

Select the correct answer using the

code given below :
(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2and 3

40.1f a+b Eé B vwh are in HP,
then iEnr one of the following is

correct ?

(@ a, b, c are in AP
(®) a, b, c are in GP
() a+b, b+c, c+a are in GP

(d a+b, b+c, cta are in AP

41. What is value of cot?15° + tan?15° ?
@@ 12
®) 14
© 83
@ 4

B — SDFR-S-HTM



45 i Hifg §in20= CUSIY, WGl g ™ .
42w Pt 4BC H, ,um%_s.w_mm_im:_cﬁzﬂaﬁ
sind — cosB—cosC=0 R e7 42. In a triangle ABC,
Frvr B frad 7R B 7 f si \5 sind ~ cos B - 45. Let sin20= .
sinl8° = X221y, : cosC=0. cos30, where @ is acul®
Aﬁd Rar T ? ra/.v What is angle B equal to 7 angle. What is the value of 1 +4sin®7
@ £ . A Gy
¢ @ V3 () .M Am:a_._ that sin18° = ma
I i
®) P ®) 2 g () n @) 3
4
5 @ ¥ , ®) 2
© 3 ] .
3 : © Z
3 ol P © 5
@ 5 : ;
1p 4 1 @ Z @ 3
afe 1 g r|3RA 14 2
A= =
43.f o+ p=Z 3R 2tana=17%, 6. 72 2519 rp
4 4 TPy 43.1f P 1 pg 111
At tan2p f® TR R 7 Qﬂﬁﬂaﬂﬁmﬂb~+>~,w ! a+B=7 and 2tana = 1, then what 46.1f A =1 g r|andBAy=|q 7 P
. is tan2f equal to ? 1rp rp 49
@ 3 @ 0 S where p=g#7r, then Ay + Az is
] @ 3
2 (b) T AR : : 3 @ o
®) 3 : i
(c) TR HOHF b ® 5 () always positive
3 :
© 3 @ i p, g, r THS @ TR . 3 (c) always negative
3 AL A Sl 2 (@ positive i iti
@ positive if p, ¢, r are positive else
0 d 3 negative
47.9R (@-bB-Nc-a)=23R N @ 3 .
44, 3f% tan(45°+0) = 1+sin20 R, &l 2B o o 47. 1f (- B)(p — )(c —a) =2 and abc =6,
IWAQAW R, @ cos20 F HH TT abe=6 & A |a? b2 2| = wm ] 44.1f tan(45°+0) = 1+sin20, where then what is the value of
22 PERPE I “. ~Z<g<Z, then what is the value of e m e
! 1 a c“|?
@ 0 TR . c0s26 7 _ PR
g ; (@ 0
® 1 @3 @ 3
() 12 0 ®) W fis 18
@ 1 © 14 ol
@ 2 “o © 1 © 14
@ 15 ¢ :
SDFR-S-HTM - B ; @ 2 @ 15
: 16 .
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é.mﬂ?,wmmw?n%&w%

ab ¢
b ¢ a
cabd

o b

l.a+b+c=0

2. ad + b+ = 3abe

3. a2 +bi+—ab-be-ca=0
#3 Ry QT WM W FW TN
T :

(@ F==13KR2
®) FF2IR3
© F=a13R3
@ 1,23R3

49, STt A=[m n], B=[-n —m] 3K
nuﬁﬂ ¥ v & Pl W
femm difor

1. CA=CB
2. AC=BC
3. C(A4+B)=CA+CB

Irdw ¥ ¥ F-an/A-Y T
R/87?

(@) ¥ 1
(b) 7 2
(© 23KR3
@ 13k2

SDFR-S-HTM - B

18

g0, a A= ~2c0s0

cosf@ 0
sin@ 0
=] 1 1

Aoy P T E
() & I

® -
© 7
@ 27
ﬂ%\dﬂ%@ﬁﬂmxﬂ@.

" 2sinf

w.ﬁﬂ

k% fom % QIR

2cos20  2cos20 6
1-2sin’0 2c0s?6-1 3
k 2k 1

H&ﬂmﬂwﬂ.ww

@ ¥ 0

® ¥ 1

() ¥ 2
@@.&«wﬂﬁ@ﬂdﬂ

.7 R 4 T R siegg R

R B=adid ¥ frafafem & ¥
FA-a1 /-4 G q@ R/E 7

1. AB=BA

2. AB T& 3y AYE ®

3. AB & [ AHE o GEAT §
49 g T g¢ W TN W T SN
e : '

(a) ¥«

(b) Faw 13k 2

(c) Faw 2

@ 1,23R3

i |
A

48,

49.

.‘.E.._Q. which of the following condi-
tions does the determinant

ab ¢

b ¢ a| vanish?

¢ ab

.atbhre=0
2. a + b+ = 3abe
dad+P+d-ab-bc-ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

Consider the following in respect of
the matrices :

A=[m n), B=[-n —m] ?anuﬁ.xu_

1. CA=CB
2. AC=BC
3. C(A+B)=CA+CB

Which of the above statements is/are
correct ?

(@) 1 only
(b) 2 only
(c) 2and3
(d) 1and2

19

23inf  cosf) 0
50.If A=|-2cos# sing 0}, then

-1 I 1
what .mx\zn.\\x‘ equal to 7
(a) Null matrix
by -7/
(c) 7
(dy 27
where / is the identity matrix.

51. For what value of k is the matrix

2c0s20  2cos280 6
1-2sin’0 2cos’0—1 3
k 2k 1
singular 7
(a) O only
(b) 1 only
(c) 2only

(d) Any real value

52.Let 4 be a non-singular matrix and

B=adj4. Which of the following
statements is/are correct ?

1. AB = B4
2. AB is a scalar matrix
3. 4B can be a null matrix

Select the correct answer using the
code given below :

@ lonly .
() 1 and 2 only
(c) 2 only

(d 1,2and 3

B — SDFR-S-HTM



AARBF
mu.ﬁ%@wi %MW& oz ANK
FR :
H.qw\nmnﬂ#ﬂ%ﬂmw.%xuﬁ
BH ¥ FH-A-FH W @
g ?
2. 7R AB T T 9 &
BA=ABR
Jrde & A Fa-wr/FA-F T @
R/E?
(@ Fa1
(b) F992
() 13R23M!
@ AXL,TR2

54.3f 4, M 3 F T qoaqdh IFE
2 sk B W@ WRad § @ AR
C=A+B % arfr & 7@ 718 ?

(@ 1

(b) 2

© 4

@ 8
55, 7 g 4 9k B WM @ F @
S TSR 36 WHR § (R AB =4
R pa=B ¥\ feafafem # @
F-a1/#7-8 99w /8 ?

1. 4%=4

NLENn;Nw.
A Ry 7 g W W@ W T IW
T

20

© _m_ﬂuma_\.m
d m.%_ _.u_..%u

56. AI@ATW%W woR 3 f vy
&

@ 9
®) 10
@© 19
@ 20
10% yar F dau 7§ fefifeg
ﬂ.%%ﬂwﬂm%ma"
| wd & el T ¥ X 6T W %
Ui & HE sfteram 8
2, R T F I, 97 9 F o
¥ WK
S # § F-AT/HA-4 FE wh
2/2 7
(@ F1
() F2
(© 1327
@ TALTEH2
58.af C(3n, 21)=C(Gn, 2n—-7) ¥, A
Cln, n—5)F 7 F1R?
@ 42 -
®) 35
(c) 28
@ 21

—

53. Consider the following statements in
respect of square matrices A and B of
same order :

1. IfAB is a null matrix, then at lcast
onc of A and B is a null matrix.

2. If AB is an identity matrix, then
BA=AB.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
54. If A is the identity matrix of order 3
and B is its transpose, then what is the

value of the determinant of the matrix
C=A+B?

@@ 1
() 2
© 4
@ 8
55. Let 4 and B be non-singular matrices
of the same order such that AB = 4 and

BA=B. Which of the following
statements is/are correct ?

1. 42=4
2. AB*=4%B

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only

(c) Both I and 2
(d) Neither 1 nor 2

56. How many terms are there in the

9 9
expansion of T+Wu ﬁ_lm‘uu ?

(@ 9
(®) 10
@) 19
@ 20

57. Consider the following statements in

p 10.
respect of the expansion of (x+»)":

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(@) 1 only

(®) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

58. If C(3n, 2n) = C(3n, 2n—7), then what
is the value of C(n, n—-5) ?

(@) 42
) 35
(c) 28
@ 21
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sl
Q61,30 T T

@ 06129
@ 612D

@© s, 5n-06L0

@ 51, 25) - €51, 27)

60. uoooﬂa%w%m. ﬂ%vﬂwmﬁ
el € fma R A IF TRIT
e’

(a) 32

(b) 36

(© 40

(d 45
s (03) v % g Feaffea ®
fraR i
100 & 3% ¢ AE F T WA X, X
gy . x, 5 Tt a1 o AT 20 R A
92 % ¥ uiF M ¥ AW F wg F

et o1 <t 2 1408 |
61. WAl F A T ?
(@ 91
®) 9%
© %8
@ 9

SDFR-S-HTM - B 32

an.wc: :Mﬂ_q.ya:w«?ﬂqw w_jy

@ 0

®) 10

(c) 20

(@ 40
a.umiw.q&wﬁw%iyj

¥ feert @ Aisfla A o190 4 3
FAT MR ? !

() 80
®) 85
© 90
@ 95
s A (03) ¥ % T Feaffe
@a) R FER Al ; ﬁA ,

s @ # 51 9T GRT ATHiE ﬂaﬂg
(AP) & & Fomw v 9T 4% R A
381 03 T

64. THieH! T WA AT R ?
@ 67
®) 71
() 75

@ 79

59. What is the value of

C(51,21)-C(51,22)+ C(51,23) -
C(51,24) + C(51,25)- C(51,26)+
C(51,27) - C(51,28) + C(51,29) -
C(51,30) 7

() C(51,25)

(b) C(51,27)

(c) C(51,51)-C(51,0)

(d) C(51,25)-C(51,27)

60. How many. odd numbers between 300

and 400 are there in which none of the
digits is repeated ?

(@ 32
(b) 36
© 40
@ 45

Consider the following for the mext three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, xj, x3,
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

... X, measured

61. What is the mean of the values ?
(@ 91
() 96
(c) 98

(d) 99

¢ sum Oof the

62. What is the algebrai ¢ values

deviations of the same set O
measured from 99 7

(@ O

() 10

() 20

(d) 40

63. If the algebraic sum of the mh&»n.cnw
of the same set of values measure
from y is 180, then what is the value
of y?

(@ 80
() 85
(c) 90
(d 95

Consider the following data for the next

three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

64. What is the mean of the marks ?
(a) 67
® 71
) 75
d 79
B — SDFR-S-HTM



67. PO 1)
5. e ! (@)
. a
@ 795
® 79 (V] W,
(c) 785
@ 7 ©)
%.ﬂ@ﬂwm@ﬁwmm&ﬂ @3
w e ?
@ -!
® 0
2
C,
3
@ 2 ® 7
<
%%@ﬁ&w?% © 3
e At (1) )30 m_w 5
@dﬁﬁm_ﬁmww@&%i o 03

® 7

® 1

a <hfirg 6 7 e & f s v arew ©
1 WETER R T 9 WS & AR T

Tg we § T Fom ved aTes A WEIER @ 3

2

T R AT I AT R

SDFR-S-HTM - B 24

69. Am_mv foreh TR & ?

65. What is the medipg of the marks 7
(a) 795
(b) 79
(c) 785

d) 77

% menas o i feintons
@ -1
® 0
© 1

@ 2

Consider the following data for the next
three (03) items that follow :

There are. 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

ﬁ Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and.T be the
event that first applicant interviewed has
at least 3 years experience.

25

67. What is P(GN T) equal to 7

1
(a) 3
2
(L] 3
© 3

4
@ %

68. What is ln_d equal to ?

~

(@)

<l

®)

<

©)

~ s

@

B[V

69. What is P(T|G) equal to 2
@ 1

®)

W=

©

wlw

@

Hlw
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Eucii]
(3ar) e P ARG ot 4 @
ft s 3, 1% ®

st m;ﬁz.:.
é.waw Qwuﬂnﬂﬂ&sa

i B ?
@ 735
®
© 753

@ =59

71, T =@ i 7 i @ 6 6

Ch gt A A AR

65
(@ \MMm

64 7!
®) 759 /

© 7223

@

:.ama&

a1 MR § 76 6 Flapy

mw%aﬂﬁﬂﬁﬂ%%&y

dfa @ 7

728
® 729
©)
©) 729

@

g = (03
-4t T
=T 020 2049

et | 17 | pHa

st ¥ g feafifey
fEr fifvrg

40-60

60-80

80-100

32

p-3q

19

qmﬂ%%w.nﬁ%w.

7. pT AR TR ?
(@ 25

® 26
) 27

d 28

ﬁ.mﬂnﬂ.ﬁqu
@@ 1
® 2
© 3
@ 4

26

Consider the following data f

three (03) items tha fo]jy, ; ' NS Rext
The incidence of suffer,
among workers in an

of 334%.

i ing from a disease
industry hag 5 chance

70, What is the probabil;
3 out of 6 workers
discase ?

ty that exactly
suffer from 3

80
@ 75

=]

o 1

]
—

10
© 243

160
@ 79

71. What_ is the probability that no one

out of 6 workers suffers from a
disease ?

665

@ 75

©

© 73

t
72 What is.the probability that at least
one out of 6 workers suffer from
disease 7

(a) 128

(b)

653
(c) 729

596
()] 79

Cousider the following frequency aw,mw
bution for the next three (03) items
follow : ,

[Class | 0:20 [ 2040 | 4060 | 60-80 [ 80-100
Frequency | 17 |p+q| 32 |p-3a| 19

The total frequency is 120. The mean is 50.

73. What is the value of p ?
@ 25
®) 26
(c) 27
@ 28

74. What is the value of ¢ ?
@ 1
® 2
© 3
@ 4

27 B — SDFR-S-HTM



75. afk ww W A W LR
.ﬂ.ﬁ.«wﬂﬂﬁ.ﬂﬂwﬂw

@ 25

® 50
© 75

@ 100

s v (03) et & forg Prefefed
L : et k=0 ®
e mx+»u<+uu|_wno. !
i st < s A, B CR T
2 | wufig K 4,5, C ¥ oA T AN T
ﬁ&ﬂsm+\m+mx-|€|muow !

76. kT AA TR ?
@ 3
o) 4
) 6
@ 12

A 3 g A GHAH T = g
qq.ww%wﬂwﬂ@mmwmwm.ﬂ«_%w ?

(@ 0<p<05

®) 05<p<l1
() 1<p<15
@ p>15

DFR.S-HIM - B

m.mg#:,_ww“wﬂwﬁﬂdui
qm.m._ﬂa - TR ?

@ x=r=:
) 2w=I= 4z
© G=3y= 4z

@ Gx=4=3
2y 0 R % o P ¢ e
g :

2 -
e 8 e NkW.?.Ml.TWIN. m_m
@3-oF T EI
0. e < Tt e % s

T E?

@ <3,2, 1>

) <2,3,6>

(c) <6, 3, 2>

@ <1, 2, 3>
go.aR @ W U FEwE e w

AT T AT T p, g WK rE,
@ (p+g+r) foras TR R ?

@ 10
® 1
© 12
@ 13

28

75. If the fre
doubled,
mcan ?

quency of cach class js
then what woulqd be the

(@) 25
(b) 50
© 75
(d) 100

Consider the following for the next three
(03) items that follow :

The plane 6x + ky + 37 — 12 =0 where k0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere

passing through the origin and 4, B, C is
N~+¥~+N~|lewx<l,&nuo.

76. What is the value of k9
(@ 3
®) 4
© 6
@ 12
77. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?
(@ 0<p<o0s5
M) 05<p<1
() 1<p<1s5
@ p>15

29

line

78. What is the equation of z-mon.“n_m

through the origin and the centr®

sphere ?

(@) x=y=z

(b) 2x=3y=4z

(c) 6x=3y=4z

(d) 6x=4y=3z

02,
Consider the following for the next /wo 02)
items that follow :

Let the plane 2% +2Y +Z =2 pass through

x 3
the point (2, 3, —6).

3

79. What are the direction ratios of 2
normal to the plane ?

@ <3,2,1>
®) <2,3, 6>
() <6,3,2>

@ <1,2,3>

80.If p, ¢ and r are the intercepts made
by the plane on the coordinate axes
respectively, then what is (p+g+7r)
equal to ?
(a) 10
®) 11
(c) 12
@ 13
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¢, gf -2k WX
- joak o pi+ g KT
o p o
Fun € ?
(a) 4,1
® L4
2
©33
8
@ %3
¥ ofref 4, BARC

forelt T ABC Y5,
mN.Mw@@ gy FAW a, b &#n\m.
v P w1 ¥ & W AC

frgs R B 7
o BEE
®) mml\uwwm
@ 2822

o ¢

2. WRW T, Ay AT T
HEATHF §

3. |t @ @Ry TEE @EER

Coeag

SDFR-S-HTM - B 30

IR R T
Mwmm ? bl

() ¥ 1

() a2

© ¥ad 13k 2

(@ 1,29R3

84, W BTG N..N m%

mwﬁmﬂnﬂ_awwnuxvnuw»w,&m

mﬂ?@mﬂiﬂmﬂﬂ%ﬂ"
LaRk B 9k 7 Ry g g R 3
sifeeia

23l 7 R B Ru ™ ¥R 2
afeda ®

m&ﬂmw‘ﬁm-ﬂ\&m&mﬂam@

2/27

(@) ¥4 1

®) 92

© 1R 29t

@ AANLAE2

gs. 7 R @ X B, A T whw g
R &5 [d-b|<2 1R T sk 3
3 o o 20,  Frafiem ¥ 3
FA-AMERE ? :
(a) ¥ 0<sinf<1
() wﬂﬂlw—:Amm:mANw

(c) ¥ —1<sinf <0

‘d) -1<sinf<1

(@ 4,1
M) 1,4

-

82.1If @, B, T are the i
. Ppositio

the vertices 4 B N vectors of

@ d+b+2
3
® 28-3-2
3
P N
b+c-24
(©) 3 ,
- o A
a-=-2b-2¢ -
@ =28

83. Consider the following statements :

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive
3. Cross product of vectors is asso-

ciative

31

Which of the above statements is/ar®
correct 7 :

(@) | only
(b) 2 only
(c) 1 and 2 only
(d) 1,2and 3
84.Let 7, B, € be three non-zero vectors

such that @x 5 = ¢. Consider the fol-
lowing statements :

1. @ is unique if b and ¢ are given
- .
2. ¢ is unique if @ and b are given

Which of the above statements is/are
correct ?

(@ 1 only
() 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
85. Let @ and 5 be two unit vectors such
that [3-B|<2. If 26 is the angle

between @ and b, then which one of
the following is correct ?

(@ 0<sinf <1 only
(b) IW <sinf < W only
(¢) -1 <sinf < 0 only
(@ -1<sinf<1
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. .w DY N Ga w
spag Tl A :
86.1,22 %7 Few@d Ty dm 4t ? | 86. Two digi
mw_swm@_ = %ﬁamwﬂ ; Bits out of 1, ,
e & 1T R ? chosen at rangop, ' 3 4,5 are 89, i
r aife 3 [E L @ 50 together. Wha i g and - multipfied . What is the arithmetic mean of 50
| A the last digit jn g ProPability that terms of an AP with first term 4 and
_ " . 2s 07 the producy appears common difference 4 7
@ To0 ]
! @ L @ 50
j 1 © 100 10
® 3 . ®) 51
@ 2 @ 102 ® 3
5 & (c) 100
2
C =
@ m 90. 21, 34,23, 39, 26, 37, 40, 20, 33 ,, Y, @3 (@ 102
1 R TE (e ¥ gy
i 3 e @ () F T — e @ 4
87. T ( R T i 5 90. What is the coefTicient of mean devia-
sttt 7@ ﬂmM% T tion of 21, 34, 23, 39, 26, 37, 40, 20,
I AR Prosd @ o1 87. The frequency cyrve ) 33, 27 (taken from mean) ?
R ? M%M_@ mo_._dmvon&:m?wwzs‘.“_“m MMM
S wiferE > FEe ® 022 i the _—M& 11 an experiment is skewed to 20, RIE
@ = : mSEaE. What conclusion can be drawn
(o) o > TG > T © 033 © ourve ? ® 022
(o o > W > T ) Meah > Median > Mode © o033
0-44 :
(d) s > ol > "I @ 7 (b) Mean > Mode > Median
. d o
F : i (€) Median > Mean > Mode @
zﬂﬂ_ﬂmwm&ﬁﬁﬁw&_uﬁ E.w_ﬂ@@w_ wwﬂ SR I @ Mod
3 ode > Medi.
ﬁwﬂ&mw%wﬁﬂ N.N.A.mm.mw \Abﬂ%ﬂl.ﬂ'ﬂl+ﬁ&+m§”.~ edian > Mean 91. In which one of the following intervals
? 5 -
A et F= 27 3 88. ,H..rn <.w:.»=nn of five positive observa- is the function £ (x) H%I%+Q+m .
4 (8 ¥ (-, 1) g MM.W _w w.a.uMaE of the observations decreasing ?
a) ,2,4, : g
i 3 i observation ? i irm,” is the remaining
s ®) @1,6) ' @ (-e,1) only
®) ; : @ 4
© 7 (c) ¥ (6, ) , ® 5 ® @6
_ @7 ) © (6, ) onl
@9 @ ,1)U(6,) a5, - o
: s : @ 9
SDFR-S-HTM - B 32 @ (o0, 1) U (6, =)
33 B - SDFR-S-HTM




A_
2 W %\A.‘.vu«m*.nﬂ—n”ﬂ
92. R x= w Q m+ 80
M..—w_udmm
Fe?
@ -2
® 0
g8 e
(@ s 7 () T
it f o T
#, T
. %v.ﬂk@%%ﬂ ’
a.ﬁmqmgwmamﬂﬂwmﬂﬂq
2

@ § ¥
© .wum.amﬁ.w
) 1 it =g

04 9% xy=4225 % @ x M y TIT
e E‘W@a+&ﬂﬂmﬂndﬂg
R?
(@ 130

~(b) 260
(¢) 2113

@ 4226
95, i £ 2 2y = 0% frefiw
o
SDFR-S-HTM - B

34

96.

97.

98.

() W0 uN g

() T I

() T AT -5

(d) T QdgE-Tw

aft FE 5, 0 (57, 105
(5¢% 10g) T g Wt §, N oy
AR, T prg ¥ ?

(@ -2

® -1

@© 1

@ 2

I T W@ H W @y =N fig

n.lwvﬂuﬂN%WwﬂAmﬂﬂdﬂ

(@ x+y—1=0
@) x-y-1=0
© x+y+1=0
@) x-y—2=0
6 9 F EHERT W ¥ N oy

gty # a1 8 SR @y -2~ oy
wef war @ 7

(@) ¥+’ —2x-2y—1=0
®) Nu+.v~n+Nx+N¥+_|l.o
© x2+y?-2x-2y+1=0

d) ¥2+)2—4x—4y+4=0

921 the derjy,
S(x) = m_. +2
then what is

ative  of the function
e+ 1 vanig

hes at ¢~
the valyg =

fm+8no
(n) -2

(b) 0
(c) 2

(d) Cannot pg d .
. term
Insufficient ._.._M_a ned due 1o

93. What is the are,

. inc| i
quadrant betwe, uded in the first

en the curves y - x and

@
1

®) 4 square unjt

(© 3 square unit
(d) 1 square unit

94. If xy =4225 where X, y are natural
numbers, then what is the minimum
value of x +y ?

(@ 130
() 260
(c) 2113

(d) 4226

95. What does the equation xmk -2y=0

dx
represent ?

96.

97.

98.

35

(@) A family of straight lines
(b) A family of circles
(c) A family of parabolas

(d) A family of ellipses

If the points with coordinates (-5, 0),
(5¢%, 10p) and (542, 10q) are collinear,
then what is the value of pg where
P*q?

(a) -2

) -1

(© 1

@ 2

What is the equation of the straight line
which passes through the point (1, —2)
and cuts off equal intercepts from the
axes ?

@ x+y-1=0

®) x-y-1=0

©) x+y+1=0

() x-y-2=0

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—2=07?

@ 2+y*-2x-2y-1=0

®) 2+)y2+2x+2y+1=0

(© 2+)y2-2x-2y+1=0

()] kn+.v.ulbhl&u\+hﬂo
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a) 2
it (3 S%Wm\a,—,\u“cﬁw (a)
g9, AN (3 R o 3 ‘\
q@ad e !
© 4 e R T A TR
) =3
(@) ¥ @ 6 99. _e<__..= is the
?v .Hu" 12y —_c__”_w with :un:aaw_m:c: of th
. x=3=07 =3, 0 © para.
2 LN ) s
@© »=1x 103. B whradt % oA Xamg e and direcyriy (a) 2
@ yi=-2e pawé.arnuo%ua+n ¥ ) 3
iR (@20,b=0) ¥? Y+es, ) 2=13 .
: M C
100, & 2azyret & TN ¥~ @ ¥ a-b=0 © y=12 .
H @ 22 3 d) 6
¥aA at+b= ) y2=_|
@ 1 ®) a+b=0 2 103. Under which
(© a&-b=0 100. ; conditi one of the followi
® 2 ‘ What is the distang R e i
© 2 (@ ab+1=0 3 e cllipse m+~w c@%woa the foci bw0)? o =10 galih (=
g @) 1 B (a
) a-b=
@ 22 Joa T x+y=p N P 5 | © N 0 only
. .ﬂﬂnwﬂ@mWnﬂmeﬂ.wﬂﬁ ) 2 ) a+b=0only
_s.ﬁ%%m@mﬁén%%% e T R, (R i R © 2 © @-#=0
angﬁE%ﬂmﬂmﬂwa.w e @) ? 1 P TF Ay @ (@ ab+1=0
%nm_%mﬁgﬂnﬁﬂa%ﬂ @ . 5 ) 242 ©
gmea &, A Q) x=V= 4. What is the equati
101. Let mid:poi equation of the |
A T Lt et i oo o s
- Yo i e ey of s of sides BC, s ke el (where
@ 4 (© *=ry=P of th e perimeter a triangle ABC. axes ? number) by the coordi 2
e triangle, then and q is the E.nw s ? c oordinate
®) 29 @ x+y=p p(p-24) :Em;v what is @ x-y=0
. 3 ) equal to ?
© 3¢ , 105. R i (52 .W.m e ; @ g . ) x+y=0
@ 4 3 R Q@ W, o AM. 30) Lk ®) 29 © x-y=p
: Frafafa § & P o & | @ x+y=
_S.ﬁﬁﬂgﬁ@ﬁno% A ER R ? © 3¢ y=p
20— 33 =0% Whreg forg & Tt @ 2x-=0 v @ 4q 105. If the point (x, y) is equidi
M_%m 0 Tl § R A ®) 3x-2y=0 ] {2 w_uw wown (2a, 0) Smn%&wﬁwn from
: A . : , i , 3a) wh
2| smEd ¥ faw M & © 4x- A straight line is noﬂmomw which on¢ of. the ».o:oim_na
JrEe R ? 6y+5a=0 point of Eﬁaanzw&mmm through the z g
(@ 4x—6y—Sa= wan«[&nunomno:ﬁfwno (@ 2x-3y=0
SDER-S HTM B = Sopa i e Soutl a:wma sl fmter- ® 3
36 wEomMuE of the absolute _,.whr What is x—2y=0
€] 2 L1
pts ? 3 es of the () 4x—6y+5a=0
(d) 4x-6y—-5a=0
37 .
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g ey TR R e
106. ._L.H - )? B T @ 7 oo .—L i
2 = =
o (sinx+cos -
1 ®) -1
@ -3 © 1
o 1 @ 2
N .
110. sindx +2¢ ¥ R WA /8, S
@1 0<x< Nnm R
3 (@ 1
ﬂ e
@3 ® 2
" © 4
107. :mivaDAooP«vu dx fFas =R @ 8 :
27 ;
UL T ()= oryeory ™ Hiuewm
@ ftanze oA Y, el 0<x<Z ¥ ?
() 2vtanx+c i
@ 7
(c) eotx+c .
® 3
(d) 2tanx+c .4
x dx @ 2
108. R :uﬁwhmk S ~Nu&.wﬁ+~ : =
112.
&, qn+Lfres T R ? ) )
, a\ocl\mmu uT:MuTTMv 2,
@) w.: A f(2) Fras s & ?
@ 0
)] x.+.n ®a
@ In(+eNte i © 2
@ T @ 4
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106. What s [ (i
0

(a)

(b)

©)

(@)

107. What is :msxv.s

to?

@

®)

©)

@

Eu.:bu._. e'dx S.:NL dx

Pt

_:\-+no:v~ Cqual g 9

Nj—

N[—

N[w

AOOm XVlu\n dx equal

Vianx +¢
m;\ﬂx+n\
Yeotx +¢
VZtanx +c¢

e*+e*

e 41’

then what is I, + I, equal to ?

(@

®)

©)
@

Zic
2

x+c
In(e*+e ) +c

In(e*—e*)+c

39

109, What js .—“ _W_&x equal to 7
@ -2
(®) -1
© 1
@ 2

110. How many extreme values does
sindx + 2x, where cANAW have ?

@@ 1
o) 2
© 4
@ 8

111. What is the maximum value of the

function \.Eu;. where

oAnAwq

@

Al

(®)

@© 1
@ 2

(S

112, If
QQT\A& u?uﬁ& Txl.\w A
then what is £(2) equal to ?
@ 0
®) 1
() 2
@ 4
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113, =4 +38d ferer (-1) e
e 7
(a) -1
® 0
© 1
) 2

dy
T Y S IULAS S

R ?
@ -1
® 0
© 1
@ 4

15, 7R y= (Y& R a= 1R LT
R
@ 3
®) 1
© 2
@ 4

116. 5T R y =[x+ 1], —4 <x <=3, &

(] e i wed & 1 x=-35R %
FHeg &y A TR ?

@ —4
() -35
© 3
@ 0
- SDFR-S-HTM - B

_S.im m.”‘ m::&.__..aﬂ,,.avl&w.%
u.ﬁvgﬂdﬁﬂ ?
(@ 0
@ S
(c) 2In5
(d) SinS
18, s £ = 10° % wau A Frafife
w far Afm:
1. T Wi (o0, )
2. W T WA w @
3. T8 x =0 R ke R
S A P-A T wE E 7
(@) ¥ae13R2
®) Fad 23R 3
(© ¥as 133
@ 1,23R3

119. m_h“_ 3 (cosec x)? forass s R ?

@ 0
®)

© 1
(@ @ e T R

- N

3
ox =1 2
120. _5.,\M|~mfdwnmﬂmnw !

x—1

@@ 0

() 3

() 6

(d) € = afera 78 R

40

13 I f(x)=de 4
equal to?

(a) -1
b o
(c) 1
) 2

3, then What ig fo

1410 Xy* = | ey what g
cqual to ?

(@) -1

() 0

© 1

@ 4

d)
% at (1, 1)

115. If y = (x*)*, then what
m. atx=19

is the value of

1
@ 1
® 1
© 2
@ 4
116. m.o» Y=[x+1], “4<x<_3 where [
is the greatest integer function. What
. is the derivative of ¥ with respect to x
at x=-3.59
@ -4
() -35
© -3
@ o

for -1y

41

:ﬁ:. Mm =(In5)y with y(0)=In5, then
what is y(1) equal to 7
(a) 0
) 5
(c) 2ns
(d) 5in5
118. Consider the following in respect of
the function f(x)=10*:
I. Its domain is (~w, =0)
2. It is a continuous function
3. It is differentiable at x =0

Which of the above statements are
correct ?

(@) 1 and 2 only
(®) 2 and 3 only
(¢) 1 and 3 only
(d) 1,2and 3

119. What is urlm»o X3 (cosec x)? equal to ?
@@ o

® 1

© 1

(d) Limit does not exist

e |
. 120. What is ml:.w-ﬂllm equal to ?

@ o

® 3

© 6

(d) Limit does not exist
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